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Twelve people are sitting in two parallel rows 
containing six people each such that they are 
equidistant from each other. In row 1: P, Q, R, S, T 
and V are seated and all of them are facing South. 
In row 2: A, B, C, D, E and F are seated and all of 
them are facing North. Therefore, in the given 
seating arrangement, each member seated in a 
row faces another member of the other row. S sits 
third to the right of Q. Either S or Q sits at an 
extreme end of the line. The one who faces Q sits 
second to the right of E. Two people sit between B 
and F. Neither B nor F sits at an extreme end of the 
line. The immediate neighbour of B faces the 
person who sits third to the left of P. R and T are 
immediate neighbours. C sits second to the left of 
A. T does not face the immediate neighbour of D.

बारह लोग दो समानाांतर पांक्ततयों में बैठे हैं क्िनमें
प्रत्येक में छह लोग इस प्रकार बैठे हैं कक वे एक दसूरे से
समान दरूी पर हैं। पांक्तत 1 में: P, Q, R, S, T और V बैठे
हैं और उन सभी का मुख दक्षिणकीओर है। पांक्तत 2 में: 
A, B, C, D, E और F बैठे हैं और उन सभी का मुख उत्तर
कीओर है। इसललए, दी गई बैठने की व्यवस्था में, एक
पांक्तत में बैठे प्रत्येक सदस्य का मुख दसूरी पांक्तत के
अन्य सदस्य कीओर है। S, Q के दायें से तीसरे स्थान
पर बैठा है। या तो S या Q पांक्तत के अांततम छोर पर बैठा
है। वह व्यक्तत क्िसका मुख Q कीओर है, E के दायें से
दसूरे स्थान पर बैठा है। B और F के मध्य दो व्यक्तत
बैठे हैं। न तो B और न ही F पांक्तत के अांततम छोर पर
बैठे हैं। B के तनकटतम पडोसी का मुख उस व्यक्तत की
ओर है िो P के बायें से तीसरे स्थान पर बैठा है. R और T 
तनकटतम पडोसी हैं. C, A के बायें से दसूरे स्थान पर
बैठा है। T का मुख D के तनकटतम पडोसी कीओर नहीां
है।
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Twelve people are sitting in two parallel rows 
containing six people each such that they are 
equidistant from each other. In row 1: P, Q, R, S, T 
and V are seated and all of them are facing South. 
In row 2: A, B, C, D, E and F are seated and all of 
them are facing North. Therefore, in the given 
seating arrangement, each member seated in a 
row faces another member of the other row. S sits 
third to the right of Q. Either S or Q sits at an 
extreme end of the line. The one who faces Q sits 
second to the right of E. Two people sit between B 
and F. Neither B nor F sits at an extreme end of the 
line. The immediate neighbour of B faces the 
person who sits third to the left of P. R and T are 
immediate neighbours. C sits second to the left of 
A. T does not face the immediate neighbour of D.
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Who amongst the following sit at the extreme ends of the 
rows? (a) S, D (b) Q, A (c) V, C (d) P, D (e) Q, F

Who amongst the following faces S? (a) A (b) B (c) C (d) D (e) F

How many persons are seated between V and R? (a) One (b) 
Two (c) Three (d) Four (e) None of these

P is related to A in the same way as S is related to B based on 
the given arrangement. Which of the following is T related to, 
following the same pattern? 
(a) C (b) D (c) E (d) F (e) Cannot be determined

Which of the following is true regarding T? (a) F faces T. (b) V is 
an immediate neighbour of T. (c) F faces the one who is second 
to the right of T. (d) T sits at one of the extreme ends of the 
line. (e) Q sits second to the right of T
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expose explain terror’ is written as ‘ru ri be’,
‘region power updated’ is written as ‘ta no pa’,
‘climb economy terror power’ is written as ‘do ri pa pi’, 
‘region economy expose explain’ is written as ‘ru be do no’.

What is the code for ‘explain’?
(a) ri
(b) be
(c) ru
(d) do
(e) Can’t be determined

What does ‘ru’ stand for?
(a) expose
(b) Either ‘explain’ or ‘expose’
(c) terror
(d) region
(e) None of these

Which of the following code stands for 
‘power’?
(a) ri
(b) no
(c) pa
(d) do
(e) None of these
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expose explain terror’ is written as ‘ru ri be’,
‘region power updated’ is written as ‘ta no pa’,
‘climb economy terror power’ is written as ‘do ri pa pi’, 
‘region economy expose explain’ is written as ‘ru be do no’.

Which of the following is the code for ‘region power 
updated expose terror’?
(a) no pa ri ta do
(b) ta ri pa no be
(c) ta no ru ri pa
(d) Either (b) or (c)
(e) None of these

‘pi ri no’ is the code for which of the following?
(a) climb region terror
(b) climb economy region
(c) explain terror economy
(d) climb terror updated
(e) None of these
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Eight persons P, Q, R, S, T, U, V and W are going for 
holidays on two different dates (13th and 22nd) in 
four different months i.e. January, March, April and 
May. All information is not necessarily in same 
order.
Q goes in April. Three person goes between Q and T. 
Equal number of persons goes after T and Before R. 
More than one person goes between R and S who 
does not goes on odd number date. One person goes 
between P and W. Equal number of person goes after 
V and Before U who goes on odd number date. P does 
not go in the month of Q.
आठ व्यक्तत P, Q, R, S, T, U, V और W चार अलग-अलग महीनों यानी
िनवरी, माचच, अप्रैलऔर मई में दो अलग-अलग ततथथयों (13 और 22) 
को छुट्टटयों पर िा रहे हैं। िरूरी नहीां कक सभी िानकारी एक ही क्रम में
हों। Q अप्रैल में िाता है। Q और T के बीच तीन व्यक्तत िाते हैं। समान
सांख्या में व्यक्तत T के बाद और R से पहले िाते हैं। R और S के बीच एक से
अथिक व्यक्तत िाते हैं िो ववषम सांख्या ततथथ पर नहीां िाता है। P और W 
के बीच एक व्यक्तत िाता है। समान सांख्या में व्यक्तत V के बाद और U से
पहले िाते हैं िो ववषम सांख्या वाली तारीख को िाता है। P, Q के महीने में
नहीां िाता है।
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Who among the following person goes on 13th 
January?
(a) V
(b) T
(c) S
(d) Q
(e) None of these

How many persons goes between V and S?
(a) One
(b) Three
(c) Four
(d) Five
(e) None of these

How many persons go before S?
(a) Two
(b) One
(c) Four
(d) Five
(e) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Which of the following combination is true?
(a)13th January-Q
(b) 22nd April-R
(c) 13th April-V
(d) 22nd March-P
(e) None is true

Who among the following person goes on even 
number date of the month which has even number 
of days?
(a) W
(b) Q
(c) U
(d) V
(e) None of these
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Eight pillars are arranged in a ground in a certain way. A is 20m east of B. G is 15m west of D. H is 
5m east of C which is 5m north of F. E is 16m south of G. D is 8m north of A. E is 10m east of F.
आठ स्तांभों को एक तनक्चचत तरीके से एक मैदान में व्यवक्स्थत ककया िाता है। A, B के 20मी पूवच में है। G, D के 15मी 
पक्चचम में है। H, C के 5मी पूवच में है िो F के 5मी उत्तर में है। E, G के 16मी दक्षिण में है। D, A के 8मी उत्तर में है। E, F के 
10मी पूवच में है।

What is the shortest distance between A and E?
(a) 18m
(b) 15m
(c) 17m
(d) 21m
(e) 22m

Pillar A is in which direction with respect to H?
(a) North-East
(b) South-East
(c) East
(d) North-West
(e) South-West
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There are eight members in a family i.e. K, O, L, N, Q, M, P and S. Among them three are married 
couples. S is the daughter of the one who is L’s nephew. Q is the daughter-in-law of the one who is 
grandfather of M. O has only one grandson. P is grand-daughter-in-law of K. L is O’s husband’s 
sister.
एक पररवार में आठ सदस्य हैं अथाचत K, O, L, N, Q, M, P और S। इनमें से तीन वववाटहत िोड ेहैं। S उस व्यक्तत की पुत्री है 
िो L का भतीिा है। Q उस व्यक्तत की बहू है िो M का दादा है। O का केवल एक पोता है। P, K की पोती है। L, O के पतत की 
बहन है

How many children P’s father-in-law has?
(a) Two
(b) One
(c) Three
(d) Four
(e) None of these

Who among the following is father of N?
(a) O
(b) L
(c) K
(d) M
(e) None of these
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(a) If only conclusion I follows
(b) If only conclusion II follows
(c) If either I or II follows
(d) If neither I nor II follows
(e) If both I and II follow

Statements:
No Glitter is Bracelet
All Locket are Bracelet
Some locket are Ring
Conclusions:
I: Some Ring are not glitter
II: No locket is glitter

Statements:
All Ball are Cat
Only a few Ball are Apple
Some Eagle are Cat
Conclusions:
I: Some Cat are Apple
II: All Eagle are Ball is a possibility
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Seven persons of a family go in mall for shopping 
on different days in same week starting from 
Monday to Sunday. All of them buy different items 
i.e. Watch, Clothes, Laptop, Mobile, Book, Shoes 
and Bag. All information is not necessarily in 
same order.D goes on Thursday and buy shoes. 
Three persons goes between the one who buys 
mobiles and the one who buys Laptop. One 
person goes between the one who buys bag and 
T. The one who buys mobile goes immediately 
before the one who buys bag. H does not go after 
T. Number of persons goes before H is equal to the 
number of persons goes after R. The one who 
buys mobile goes before the one who buys 
laptop. R does not buy mobile and does not go on 
Sunday. M is one of the family members. The one 
who buys watch goes before the one who buys 
book and after the one who buys clothes. One 
person goes between C and X who does not buy 
clothes.

एक पररवार के सात व्यक्तत सोमवार से रवववार तक
एक ही सप्ताह में अलग-अलग टदनों में खरीदारी के
ललए मॉल िाते हैं। वे सभी अलग-अलग सामान िैसे
घडी, कपड,े लैपटॉप, मोबाइल, ककताब, िूते और बैग
खरीदते हैं। िरूरी नहीां कक सभी िानकारी एक ही क्रम
में हों। D गुरुवार को िाता है और िूते खरीदता है।
मोबाइल खरीदने वाले और लैपटॉप खरीदने वाले के
बीच तीन व्यक्तत िाते हैं। बैग खरीदने वाले और T के
बीच एक व्यक्तत िाता है। मोबाइल खरीदने वाला
व्यक्तत बैग खरीदने वाले के ठीक पहले िाता है। H, T 
के बाद नहीां िाता है। H से पहले िाने वाले व्यक्ततयों
की सांख्या R के बाद िाने वाले व्यक्ततयों की सांख्या के
बराबर है। मोबाइल खरीदने वाला व्यक्तत लपैटॉप
खरीदने वाले से पहले िाता है। R मोबाइल नहीां
खरीदता है और रवववार को नहीां िाता है। M पररवार
के सदस्यों में से एक है। िो घडी खरीदता है वह ककताब
खरीदने वाले से पहले और कपडे खरीदने वाले के बाद
िाता है। C और X के बीच एक व्यक्तत िाता है िो
कपडे नहीां खरीदता है।
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Seven persons of a family go in mall for shopping 
on different days in same week starting from 
Monday to Sunday. All of them buy different items 
i.e. Watch, Clothes, Laptop, Mobile, Book, Shoes 
and Bag. All information is not necessarily in 
same order.D goes on Thursday and buy shoes. 
Three persons goes between the one who buys 
mobiles and the one who buys Laptop. One 
person goes between the one who buys bag and 
T. The one who buys mobile goes immediately 
before the one who buys bag. H does not go after 
T. Number of persons goes before H is equal to the 
number of persons goes after R. The one who 
buys mobile goes before the one who buys 
laptop. R does not buy mobile and does not go on 
Sunday. M is one of the family members. The one 
who buys watch goes before the one who buys 
book and after the one who buys clothes. One 
person goes between C and X who does not buy 
clothes.
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Who among the following person buys Laptop?
(a) M
(b) C
(c) X
(d) H
(e) None of these

Four of the following five are alike in certain way 
based from a group, find the one that does not 
belong to that group?
(a) C- bag
(b) D-Laptop
(c) R-Shoes
(d) T- mobile
(e) H- Shoes

Which of the following item M buys?
(a) mobile
(b) Book
(c) Shoes
(d) Laptop
(e) Bag
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How many persons goes between C and R?
(a) Two
(b) One
(c) Three
(d) Five
(e) Four

Which of the following person goes on 
Wednesday?
(a) T
(b) R
(c) X
(d) H
(e) M
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There are eight people A, B, C, D, E, F, G and H 
sitting in a row and four people are facing north 
and four are facing south direction but not 
necessary in the same order. Not more than two 
people who sit together face the same direction. 
G is sitting second from one of the extreme end 
of the row. Four persons are sitting between G 
and H. A sits third to the right of H and faces 
north. D sits third to the left of B. F sits second to 
the right of B, who is facing in south direction. E 
is sitting at one of the extreme end and facing in 
north direction. F is not an immediate neighbor 
of G. H is facing in opposite direction with 
respect to its neighbor. G and H are facing in 
opposite direction. Three persons are sitting 
between E and C. E and C face in the same 
direction.

आठ व्यक्तत A, B, C, D, E, F, G और H एक पांक्तत में बैठे
हैं और चार व्यक्तत उत्तर कीओर उन्मुख हैं और चार
दक्षिण टदशा कीओर उन्मुख हैं लेककनआवचयक नहीां
इसी क्रम में हों। एक साथ बैठने वाले दो से अथिक व्यक्तत
समान टदशा कीओर उन्मुख नहीां हैं। G पांक्तत के ककसी
एक अांततम छोर से दसूरे स्थान पर बैठा है। G और H के
मध्य चार व्यक्तत बैठे हैं। A, H के दायें से तीसरे स्थान पर
बैठा है और उसका मुख उत्तर कीओर है। D, B के बायें से
तीसरे स्थान पर बैठा है। F, B के दायें से दसूरे स्थान पर
बैठा है, क्िसका मुख दक्षिण टदशा कीओर है। E ककसी एक
अांततम छोर पर बैठा है और उसका मुख उत्तर टदशा की
ओर है। F, G का तनकटतम पडोसी नहीां है। H अपने पडोसी
के सांबांि में ववपरीत टदशा में उन्मुख है। G और H ववपरीत
टदशा में उन्मुख हैं। E और C के बीच तीन व्यक्तत बैठे हैं। E 
और C का मुख समान टदशा में है।
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There are eight people A, B, C, D, E, F, G and H 
sitting in a row and four people are facing north 
and four are facing south direction but not 
necessary in the same order. Not more than two 
people who sit together face the same direction. 
G is sitting second from one of the extreme end 
of the row. Four persons are sitting between G 
and H. A sits third to the right of H and faces 
north. D sits third to the left of B. F sits second to 
the right of B, who is facing in south direction. E 
is sitting at one of the extreme end and facing in 
north direction. F is not an immediate neighbor 
of G. H is facing in opposite direction with 
respect to its neighbor. G and H are facing in 
opposite direction. Three persons are sitting 
between E and C. E and C face in the same 
direction.
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Who among the following person sit immediate 
left of C?
(a) A
(b) D
(c) H
(d) G
(e) None of these

Who among the following person sits Second to the 
left of one who sits immediate left of B?
(a) H
(b) A
(c) C
(d) D
(e) G
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Four of the following five are alike in certain way 
based from a group, find the one that does not 
belong to that group?
(a) B
(b) F
(c) D
(d) G
(e) E

How many persons sit between H and E?
(a) Three
(b) Five
(c) More than Five
(d) One
(e) Four

Who among the following pair of persons sit at extreme ends?
(a) F,H
(b) E, F
(c) C, A
(d) B, E
(e) None of these
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